2010/8/21(%) 6FEA) | FE 6| fiiF 6| 54E(B) | FHE 5 [RF 5.4

DEKRFBE TRM FHF/IG 4-3%E(C)| =48 43| FHE 43

L
iy

2-15ED)| 218 2-1|FE 2-1|FEF 2-1

TEEROT=F . BRAIELI-FIZ. hEKEHITHK ! !
RERBIFDO-HIABREZIIERATEEEA GCCHAEREIZEHERAIESILY,
BRKFA LTS TSN RUFIEKRETOKTY

- « fa—k~ 8-8-8 B a ®a—k 8-8-8 B a Ba—k 8-8-8

9:00 | F¥K 6 — JiF 6| 9:00 RF 3 — ZiR 43| 900 |FWF 2-1 — FE
9:40 |[#%F 5.4 — %% 5 | 940 — — 9:40 —
10220 | ¥ 6 — JiF 6| 1020 | ®"F 3 — EH 43| 1020 |FHEF 2-1 — ZiR
11:00 |[%F 5.4 — %% 5| 11:00 — — 11:00 —
11:40 | ¥ 6 — FiF 6| 1140 |%HE 43| — |%48 43| 11:40 |FE 2-1 — |48
12220 |[#%F 5.4 — %% 5 | 12:20 — 12:20 —
13:00 — 13:00 — 13:00 |7F 2-1 — |48
13:40 | & 6 — FF 6| 1340 | #®F 3 — | %48 43| 1340 |FE 2-1 — | %8R
1420 |%F 5.4 — £E 5| 1420 | ®F 3 — | FHE 43| 1420 —

10 —

11 —

12 —




